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= 270,818
Al 632,242
ool el (LetsE-M 2 H) 1,224,080 860,377 363,703
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= 183,612
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12 JIEtE2 & =2 1,224,080 860,377 363,703
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102,063, 000& 14 102,063
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Al 35,723
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= 253,190
< 18,989
Al 44,308
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= 253,190
< 18,989
Al 44,308
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= 253,190
S 18,989
Al 44,308
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= 633,129
< 81,402
Al 189,939
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= 633,129
< 81,402
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< 60,829
Al 141,931
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= 473,105
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ZOHUDEE 230/ THA K& A 16,120 3,904 12,216
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6,873,406
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7,250,551
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O HEAE XS

= M W

10,049,299
6,807,610
1,001,623
2,240,066
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10,000,000 =34

= = n W

= M
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10,049,299

9,725,159

6,807,610
875,265
2,042,284

24,000

7,000
17,000
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12,000
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307 glz2tol & 6,000 0 6,000
= 3,600
< 1,200
Al 1,200
10 ALl SXAIEEE2EH EX 6,000 0 6,000
OFMANEAL BIIHEI A
6,000,000 =14 6,000
= 3,600
= 1,200
Al 1,200
O NS AMSIHEANLEX A 4,691,684 4,060,468 631,216
< 869,585
Al 3,822,099
307 gl2tol & 4,691,684 4,060,468 631,216
< 869,585
Al 3,822,099
10 B ST AIEHE2HH B X 4,691,684 4,060,468 631,216
O¥E=Xa 249l 1,118,438,000& 100 & 1,118,438
< 190,134
Al 928,304
QX FAESAIE 2SI (ML - BeF
HES, S40YH0AFUES E=SE6tR
) 838,682,000 » 14! 838,682
< 150,963
Al 687,719
O ZSMEIE 2 (2L - L4l
EE, d38¢188) 199,500, 000& 14 199,500
< 19,950
Al 179,550
QX MIASESXNSAMLIH 2SH(EESX2)
178,799,000 *1JH £ 178,799
< 30,396
Al 148,403
OZMQ SHIESAE 2HH(EE=SX =)
192,500,000 *1JH £ 192,500
= 34,650
Al 157,850
OAMZLUEOHIMEQSXAHE SHHI(1HL)
293,000,000 =14l 293,000
= 58,600
Al 234,400
O=HEGHE 2LHI(1HA)
259,585,000 » 14! 259,585
= 45,000
Al 214,585
OFHeI=R2 & XNATHEALE SAX SE=
(99¢) 106,920, 000& 14 106,920
< 42,768
Al 64,152
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925,820 839,417 86,403

166,647
Al 759,173
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10 AFRIS XA EHE 23
OXHO HNATEAE
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ES 925,820 839,417 86,403
Al (3HA-Ol&EXE
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925,820,000 * 14! 925,820
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Al 475,798
307 glz2tol & 3,171,984 3,013,217 158,767
= 2,220,388
< 475,798
Al 475,798
10 AL SXAIEEE 2 HEX 3,171,984 3,013,217 158,767




A el Zoel
M mojol =X =&
el FAUQAANE 2F (&)
SA - BB (3) - NRALY - BES Of & o8 il HI RS2
SERCENEIEEEEES)
3,171,984,000& 14 3,171,984
= 2,220,388
[ 475,798
Al 475,798
=IZHEEHO WA s 15,774,197 10,841,340 4,932,857
= 13,991,018
< 1,126,956
Al 656,223
HAsEs HEXNH 4,009,635 3,195,441 814,194
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